3 RD>C A\ FIGHHT COMPAMNY 3

Standard Speed Ball Platform

Tools Required

Plastic or Wooden Mallet
10 MM Masonry Drill Bit é o
Philips Screw Driver

Parts List o é ﬂ f "ﬁ// 1

i ya
A - M6 x 30 C/Sunk Screws &

B - M6 Washers

C - M6 Nylock Nuts

D - M4 x 30 C/Sunk Screws

E - M4 Washers

F - M4 Nylock Nuts

G - 1 End Caps

H - M8 x 60 Coach Screws

| -10x50 Nylon Plugs

J - M8 x 50 Cup Square Bolts
R - M8 Hand Wheels

SR
REAN

X
X
©

o)
BN
N

O\
AR
o

-

M MO W R B B R BB

Important Notice

&

% The bracket must be fixed to a solid surface and Folded Position
not to a cavity or plaster board wall.

s+ Use Mallet to Insert G. (LA

%* Drill Holes 65MM deep to insert I.

%* Check all fixing before use .

MAKE SURE TO ASSEMBLE THIS PRODUCT ACCORDING TO THE 0— 0
INSTRUCTIONS. FAILURE TO DO SO MIGHT TRANSLATE INTO
HARMFUL CONSEQUENCES. MAKE SURE THAT THE WEIGHT OF
THE EQUIPMENT DOESN'T EXCEED THE WEIGHT CAPACITY OF ¢ b G
THIS PRODUCT. IF YOU LACK THE NECESSARY EXPERTISE TO
ATTACH THIS PRODUCT TO THE WALL STRUCTURE THAT
YOU'RE USING, CONTACT A CONSTRUCTION PROFESSIONAL
TO INSTALL THE WALL MOUNT OR TO PROVIDE SPECIFIC
MOUNTING INSTRUCTIONS FOR YOUR WALL STRUCTURE.
BRACKET MUST BE FIXED TO A SOLID SURFACE NOT TO A
CAVITY OR PLASTER BOARD WALL.

S/ AN 7 INS/IODOE

info@rdxsports.com www.rdxsports.com




